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| __sw is not found in almost al|
plant cells.

(A) Centriole

(B) A large central vacuole
(C) 70 S Ribosome

(D) 80 S Ribosome

‘Amber’ is a fossilized form of

. (A)-Petrified plant organ

; (é) Eeaf coal

(C) Hardened resinous secretion
(D) Pseudofossil

A dwarf shoot with two needles is
found in

(A) Pinus gerardiana
(B) Pinus longifolia
(C) Pinus monophyla
(D) .Pinus Sylvestris

Lodicule in family Graminae

represents
(A) Leat (B) Bract
(C) Pedicel (D) Perianth-

In cockroach, the endoskeletal structure,
tentorium is found in the

(A). Mandibles  (B) Thorax
(C) Abdomen (D) Head
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Gl — | g - 1| S gfm RRR A
5 e o il s PR |
et - | Tt - 1
T 1.
=g
ERESIC 2. 7at StH-wvTE %
o .
FET
T 4. 31 5 g Prafia
L
& :
a b c d
(A) 3 2 4 1
(B) 2 1 4 3
(C) 4 2 1 3
(D) g3y > 4

6. The spermatozoids of cycas are

(A) Top-shaped, multiciliated
(B) Biciliated

(C) Non-ciliated

(D) All of the above

In Pila how many teeth are present in
each row of radula ?

(A) 21112 (B) 11112

(C) 10112 (D) 10012

Match List — | with List — || and select
the correct answer using the codes

given below.
List -1 List -1
a. Neomorph 1. Interchromosomal
rearrangement

b. Epistatic gene 2. Masking the

action
of another gene
c. Codominance 3. Produce a
~ phenotype
different
from the wild
gene
d. Translocation 4. Acharacter
controlled by two

genes
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Respiratory Quoti
acid is

(A) Zero

(B) One

(C) Less than one

ent (RQ) of organic l
'J
(D) More than one

was not given by Darwin.
(A) Pangenesis theory
(B) Mutation theory
(C) Both
(D) None

The embryo sac is bounded by the
wall of .

(A) Megasporophyll
(B) Endosperm

(C) Megasporangium
(D) Megaspore

Litmus is obtained from
(A) Red Algae
(B) Bryophyta

- (C) Lichen

(D) All of the above

Which of the following codons usually
codes for valine but can also code

for formylated-methionine as initiator
codon ? '

(A) GuG
© UGU

B)UGA
(D)AGU
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(A) giefizrd

(B) eI (fraier)
(C) FmII (et
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(A) THH
(C) *=adest

(B) e
(D) &9

14.  Sometimes a single gene defect
produces many secondary effects.
This la(c lled

(A) Polytropy

(B}"':':lgleiotropy

(C) Homotropy
! Sép) Het_erotropy

. The pecten of Columba (Pigeon) is
- derived from
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ied b
Red drop effect was 5‘”#'9 4
(A) Van Niel (B) B“”k‘
(C) Emerson (D) Calvin

Which wood is used in making railway
sleepers ?

(A) Shorea robusta
(B) Morus alba

(C) Madhuca indica
(D) All

Theory of origin of species by natural
selection was given by

(A) Charles Darwin
(B) A. Wallace

(C) A. Weismann
(D) H. Spencer

In family caryophylaceae,
placentation is

(A) F|r_§e central (B) Parietal
(C) Basal (D) Axile

%,.iﬁmel'ﬁﬁ@wlngs of housefly are modified

into little halteres. During flight these
(A) Do not beat
(B) Beat at same rate as fore wings
(C) Beat faster than fore wings

=

(D) Beat slowg( than f""ﬁ%ﬂiﬂs@




- 23, T3 woT % Sfarm f are vl SR | 23, In which type of fossil, both the
a1 A gf i g ¥ 7 external as well as internal structure

_ are preserved 7
(A) Fifahem

(A) Petrification

B) 2y .
(B) WeIfga (B) Pseudofossil
C) #F1UvH (C) Compression
(D) I (D) Incrustation

[ S
-

‘What is the functions of Keber's Organ
~in Unio ?

(A) E
 (B) Vaé’éﬁ]‘éjﬁ
(C) Digesﬂve
(D) Reproductive

24, IF37 ¥ T il o o w AR 7
(A) Iegst

s:at!- ’

. The parasympamet:c nervous system
does not

(B) Constriét hronchmles
(©) Sﬁmulate' l .ary secretion
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28.

29,

30.

Hardy-Weinberd pquilibrium 13
affected by

(A) Mutation

(B) Natural gelection
(C) None

(D) Both

Which of the following gtatementisnot =
correct 7

(A) Auxins aré effecti :
parthenocarpic fruit.

(B) Parthenocarpic fruits are seedless,

(C) Only gibberellins are eﬁ_ectivg in
producing parthenocarpic fruit.

(D) Parthenocarpy escapes fertilization.

ve in producing

Lichens are good indicator of
(A) Water pollution

(B) Air pollution

(C) Soil pollution

(D) None of the above |

i : |
What |§ the dental formula of Rabbit 2
|
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31.

32.
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34.

36.

Which of the following is not a filter
feeder 7

(A) Unio
(C) Herdmania

(B) Amphioxus
(D) Asterias

Node of Ranvier are found on
(B) Axon
(D) Synapse

(A) Cyton
() Dendrite

Alluvial soil is a type of
(A) Zonal soil

(B) Azonal soil

(C) Intrazonal soil
(D) None

Beverage yielding plant Coffea arabica
is a member of the family

(A) Apocynaceae(B) Rubiaceae

(C) Acanthaceae (D) Solanaceae

Of the following who started the =t.=
of Geographical distribution of an /=

(A) P. L. Sclater
(B) A. R. Wallace
(C) C. Darwin
(D) H. Spencer

What determines the diffusion of water
from one cell to other 7
- (C) DPD D) TP
TG-16/C
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Chocolate is obtain€d $

seeds of

(A) Erythroxylan coca
(B) Theobroma cacao
(C) Cola nitida

(D) Catha edulis

Of the following who challenged the

Lamarkian theory ?
(A) Charles Darwin
(B) Hugo de Vries
(C) A. Weismann
(D) H. Spencer

In Bacteria, when many flagella present
only at one pole, are known as

(A) Monotrichous
(B) Amphitrichous
(C) Lophotrichous
(D) Peritrichous

Methanogenic bacteria belong to
(A) Mycoplasma

(B) Eubacteria

(C) Cyanobacteria

(D) Archebacteria

Mosses and Ferns produce multicellular
embryo within
(A) Antheridium (B) Embryo sac

(C) Oognnium (D) Archegonium

o)
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42. Of the following Fuglena belongs to

which class ?

(A) Phytomastigophora
(B) Zoogfastigophora
(C) Rhizopoda

(D) At';;_tinopoda

43. Which is a bisporic type embryo sac ?
(A) Polygonum

i Oenothora

(©) Alium

(D) Adoxa

- Which of the following hormones does
not bind to cell-surface receptors ?

(A) TSH (B) PTH
(C) FSH (D) Testosterone
X

body of the Tadpole larva sl OWS ‘

Head

(D) All of the above
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49,

Of the following which is not the ,_?

zoogeographic realm ?
(A) Megagea  (B) Neogea
(C) Notogea (D) Palaearctic

'- -ll
i

If the thallus of an organism €.g. a

fungus is entirely converted into one
or more reproductive structures it is

called as

(A) Eucarpic
(B) Holocarpic
(C) Holozoic

(D) Homothallic

Which of the following statements is not
true about the Indian leech, Hirudinana?

(A) Its medical use in India dates back

to around 1000 BC.

(B) It sucks blood from fish, frog,
cattles and humans.

(C) -Digestion of the blood takes
10 to 14 months.

(D) Itsbodycavi'lyiswall da gloped.

Mendel's work ofm was based

upon which of the following ?
(A) Andulusian Fowl

(B) Oenothera Lamarkiana
(C) Pisum Sativum

(D) Drosophila
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51. Globular proteins do not act as

(A) Enzyme
(B) Structural molecule
(C) Hormone
(D) Antibody

52. Inflorescence of family lamiaceae is
(A) Dichasial cyme

(B) Verticillaster

~ (C) Both (A). and (8)

O Cymose

‘fc TI'IB partially isolated pow'ms are
~ known as

(D) Niche




56. witT-sifad 9idE o TE B 7
(A) Et-apfit 3T

(B) TEISH
(C) HIERRH
(D) T
57. = d 4R “‘Ses v wEd e !
(A) deRFT Frdgeifcaa
58.

AaneRE -
59. rirg forareh fAmferfiad =hedi s & e -
qR 7
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- (C) Medusa
(D) Coenosarc

b
(B) wvf) garefie dioa AR E |
(C) B 3y syt wfzwaa & ford s@ %
s o) aTEgaeRdl B € |
O) Bt iy g A € |

56. Proteins of animal origin lack
(A) D-amino acid

(B) Nitrogen

(C) Phosphorus

(D) Sulphur

57. Which of the following is called as “Wolf =

-

Moss” ? b
(A) Cetraria Islandica
(B) Cladonia Rangiferina
(C) Lecanora Esculenta
(D) Letharea Vulpina

58. In obelia colony which of the following
is not covered_ by perisare 7

(A)EL = i -.‘ I
(B) Bfastostyla .

Which of fhe following statements Is
true regarding enzymes ? i

(A) All require a coenzyme for thefkl
- activity.

(B) All are active at neutral pH. ;

(©) Allrequire a muleeula of watarfor:
their activity.

(B) Al lowe AP O hottattr 1
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60. Theincubation period in chick lasts for
abﬂut h%w many days ?

(A 11 (B) 21
(C) 24 (D) 31

61. thfi’)sphere is neither a root nor a
shoot but it is an “organ sui-generis”
according to scientist

(A) Van Teighem

(B) True_&'—-"-' e

rvey Gibson

(D ﬁéwérand Goebel
'( R - |

Bacteriophage @as«dlsmvered by
~ (A) Lworf, Home and Taumiar

(B) F. W. Twort and Felix d’l-lerefle
lndependently

N Yellow Rust of
(A) P. hel.‘an
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T e H IvafdE g sedn 65. Volume of airinspired or expired during
o9 A o am mé a normal respiration is termed as
(A) F. (A) Tidal volume
(B) a9 T (B) Residual volume
(C) 9 & (C) Vital capacity i
(D) Wy Iidrg e (D) Inspiratory reserve volume |
|
:
66. B3I Sal 1 fAmto 3Efd BT 8 66. The formation of gonads in Hydra is E
stimulated b
(A) s il =i ) |
- a (A) Lack of oxygen ;
(b taSn ! (B) Abundance of carbon dioxide
O wrEy N *_(D}; _.Alanine
= ;_.-ﬁ:?- mw.—_ﬁ fireren 21 ;§7 Multbellﬁﬁﬁizﬁlds are found in
= A) RfFer % (A) Riccia : ' ;
(B) ARERrT — _.(B] Mamhantra
E (C) wfem , ,."“‘”
(D) fereft & 78 4 .
- 68. Alginic acid is found in the
’ (A) Cell wall of Red Algae
(B) Cell wall of Blua-green Algae ¥
(C) Cell wall of Bmwn Algae | ';-:
() Cell wall of Green Algae
18 ey |
Z OF




-—-_._.____’@ 69. Most common mycobionts in lichen
Frle @ | belong to
(A) FTEFIHTE RS

(A) Phycomycetes

(B) ffeAmmms Ry (B) Basidiomycetes
(C) w=mTfde (C) Ascomycetes
(D) SRS

(D) Deuteromycetes

.

70.  FHEH Fif § %Wﬁl’{ﬁﬁ l;: In eukaryotic cell, the arrangement of
HEAfTst ) s 2 9 4 2 JUITed} £
Fed

- axonemal microtubules in
is referred to as the 9 + 2 array.

(A) gEmTYy (A) Cillia
(B) =umifire r (B) Flagella
(C) 2 (C) Both
(D) ﬁm"tﬁ?ﬂf (D) None

. m“ﬁ?%ﬂmmﬁ .
B “"”’Wm'
BROR A
» {G)%hq L

The digestive tract of human adult

 (A) Pepsin
(C) Rennin




73 fodeiwida o a9 ) e b 73.  The number of genera in the
cephalochordata is
(A) A -
(B) T & i
e (C) Four
(D) i ©) Five

74, T GA A w0 N o Jef THERF R [ 74, 'Pasal' of like qualities f
) U Fr i 4 | ) wfomer @ 2 gena wmmwm

(A) Sfaem

(B) F¥gma




IS | Waﬁ%’l%ﬁ?ﬂﬁﬁ 77.  In Scoleodon how many pairs of cranial
FAE 7 nerves are present 7

(A) 9 (B) 10 (A)9 (B) 10

(©) 11 (D) 12 ©€) 11 (D) 12

Afm &4 wotfamrg foh s 78. The type of phyliotaxi in Nerium sp. is
glare 7

(A) Distichous

Which of the fouowingfrs a‘ﬁ“essenuaj
fatty acid ? it



81. Wiehfaiew i e & & # - s
TR ?
(A) iRt furst
(B) WIgEYHITSAT
(C) FAARL
(D) Iyt o+t

82, U WRWHRS forgd iy - @
FEAT 2

(A) TS

(B) T=iw

(C) HIeHR
(D) fefFais

83. Tew  wed H F mrmw e & 7

(A) 2 (B) 3

(C) 4 (D) 5

B4, yfrg FIRATEATRI TR T &
(A) fefiferam |
(8) Trgsiy #
©) sufgerm #

(©)
TG-18/c Wi i

81.

82.

83.
~heart of Frog ?

In Prokaryotes, of the following which
is absent ?

(A) Nuclear membrane
(B) Mitochondria

(C) Chloroplast

(D) All of the above

A Siphonostele with non-overlapping
(scattered) leaf gaps is called

(A) Meristele
(B) Eustele
(C) Solenostele

(D) Dictyostele

How many chambers are present in

e (B) 3

(CJ 4-.-‘.5:" (D) 5 |
Branched Conidiophore g found in"" ,
(A) Penicillium -
(B) Rhizopus | %
(C) Ustilago f’.‘
(D) sa%hﬂl‘ﬂmyc a*st#:t.a_é _ %1



(3"?“? ) 3A9g 85. The alleles of a gene do not show any

H wfefira et ﬁ._g{f #R F, 1t & 2 blending and both the characters are
e i f | & fF B et 2 | 72 recovered as such in the F,, generation.
FYq 'r't‘_f'*l- | This statement is

(A) Srrferea it v . (A) Law of Dominance

(B) foreasra =1 framy (B) Law of Segregation

(C) @z ma[aq mrﬁzm | (C) Law of Independent Assortment
% D) Law of Natural Selection

LB

. Property of nitrogen fixation is found
in which given algae ?

(A) Cyanophyta
| (B) Chlorophyia F
(C) Rhodophyta
(D) Phaeophyta

1%




faftsm g ?

(A) FAfFIAH S
(B) *fure

(C) yfeeer 3=

(D) 394 H @ 13 7E

89.

90. =ie #Fi ayafy o Frefeifas d @ F-ar
AT qqH1 F F9 F o0 sErf @ 7
(A) &g
(B) Fveq
(C) wwaftd arg
(D) Fi-vafter g

91 ﬂ@ﬁﬁﬁ%ﬁﬁﬁ@@aﬁwqﬁaﬁ%‘,
BgH
(A) ffafes
(C) uriteery
92 Wﬁﬁammﬂﬂmﬁﬂm%?
(A) T (B) T3

(C) == (D) ¥m

- 24

89. The virion is

(A) Nucleocapsid
(B) Capsid

(C) Nucleic acid

(D) None of the above

90. Which of the following is responsible
for the vibrations of the vocal cords
during speech ?

(A) Ligaments
(B) Tendon

(C) Inspired air
(D) Expired air

91.  Medulary bundles are present in many

@

plants, except
(A):,Mfrgbiiggw (B) Bougainvillea
(C) Amaranthus (D) Nyctanthus

92. In Sycon which type of canal system
is found ?
(A) Ascon (B) Sycon
((_3)_4I_.eucbn (D) Rhagon

On the basis of the amount of yolk and
its distribution, the eggs of frog are

(A) Microlecithal and centrolecithal
(B) Polylecithal and isolecithal

(©) Mesolecithal and telolecithal
(B) Mesolecithal and isolecithal
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95. mﬁmmmﬁﬁwﬁwﬁa

a5

96.

84. Formation of gametes in the gonads
is known as

(A) Spermatogenesis
(B) Oogenesis

(C) Gametogenesis
(D) Genesis

! .r-!‘

85. In Pinus, pollengrains dehisces at
 (A) 2-celled stage
 (B) 3-celled stage
(C) 4-celled stage
(D) 5-celled stage
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og. Aftg N T fpareh o e e S R7 98. In Nereis, the blood is pumped by

(A) &4 (A) Heart
(B) A T (B) Dorsal blood vessel
(C) Fat A afEed (C) Ventral blood vessel
(D) HRTH (D) Capillary g
Qg TR A HeHRE & whAH Gﬁﬁ'ﬁm 99. The relationship between mosquito
T A and malaria was discovered by
(A) DATeE TY & : (A) Ronald Ross %
(B) 9= g0 (B) Pasteur i
() faferm & & (C) William Harvey ;v
(D) HigE™ T (D) Needham 2
- 1
voo. - St e | 100. Gram-positive Bacteria are |
(A) aﬁﬁmﬁﬁlﬁw.-mﬁ 0| " characterisedby
& =i B A |
efiren Wi A1 H @A [ |

(c) fefire it wferera T & BT




(A) Aery
(C) Cemy

HTB) Bzrgq
(D) Z zrgy

103.  Watson and Crick model of DNA is
(A) A Type (B) B Type
(C) C Type (D) Z Type

104.  Floridean starch is the food reserve in
(A) Phaeophyceae
B) Cyanophyceae

| fJ Bacillariophyceae

_'.1_,4 ] Rhodophyceae

(B) Hexactinellida
(C) Dernoepongla

(D) | ¢ ‘__ d




108. QT St - 1 3TgeH Brem 2

(A) 1N — 3HEIT — 2N - f¥=7
— 1N

(B) 2N — arsfgam » 1IN - f=m

— 2N
() 1N-+q?W—>2N-aﬁeir-l—->1N

(D) 2N — I — 1N ->ﬁﬂa§;_._,2~

109. Eg;gmﬁa@'gﬁm{m@ ﬁgﬂ'@m

oy
B)2n-2
(©) 2n+2

(A) 2n -1
(C) 2n +1

v

110. e s R s 2

108.

General life cycle has the sequence

(A) 1N — Meiosis —» 2N — Fertilization
- 1N

(B) 2N Meiosis —» 1N — Fertilization
— 2N

(C) 1N — Mitosis —» 2N —» Fertlhzatlonl -
— 1N

(D) 2N — Mitosis — 1N — Fertlllzatidﬂ
— 2N | £

d" mﬁ"é - =n Y

Ina t;lsomlc, the polyploid
ch ‘omosome is




12, ﬁmﬁmﬁﬁmmm
& FifH ¥ U

(A) fomm ooy
B) forn f=m %
(C) srsrfea day
(D) form foret srvemym &

113, %513 T & wo S Seredte s
STaT

(A) FEHHE
(B) TS
C) wwRET
(D) $H | % 7

e, T g s &

112. Fruitsarenotproduced in Gymnosperms
because they aré

(A) Without pollination
(B) Without fertilization
(C) Seedless plants

(D) Without any ovary

118. A modified protostele with central pith
is known as

- (A) Siphonostele

[ (B) Actinostele

(C) Plectostele
(D) None of these

114. In the gastrulation process of
Amphioxus which organogenesis
~occurs from the following ?

(A) Neuralization

(B) Notogenesis

(C) Mesogenesis and Coelom
(D) Al of the above

115, Double__oim and double

() Opesosan o,
;@) Uromastix and Rang
Jl.ftp) Rana and Colump a




116, feferfas § & #17-91 Sao1-R=3
I . T, (& -G ) qrrE 5 7
(A) TeEEE= |
(B) FRTN T
(C) Zegramm
(D) YsSETEE

. . -

17, o § e e T
S EAE 7
(A) = (B) 7%

(C) =, (D) SwagEl

116. Which one of the following is a double-
-anded RNA (ds-RNA) virus ?

~ (A) Rotavirus

-" {B) Influenza virus
(C) Tospovirus
(D) Rhabdovirus

117. Paramecin is produced by which
particle of Paramecium ? 2
(A) Kappa  (B) Pi

©Mu (D) Lambda




121. SRy ¥ £
e r S®HaE el A it | 121, InPheretima, the septal nephridiaare found
? in all septa behind segments.
(2) 1415 B/ (A) 14/15 (B) 4/6
G ©) 12 (D) 9/10
122 sl ™ Qi ﬁqﬁl‘ﬁiﬁ ot § & | 122, Which of the following parts of the
HH-HT q;ﬁimz;m T ST 2 7 mammalian nephron is found in renal

medulla ? ﬁ
a-s(‘A) Gfomerulus
(B) Dlstal convoluted tubule
(C) F’J ximal convoluted tubule
(D)‘? oop of Henle

123. Fasciola attéches to liver by

(A) Four suckers
(B) Two suckers
(C) ,One sucker

| 125. Ofthe following V(ho coined the word
Hormone ?

(A) Charles Darwin
(B) A. R. Wallace
(C) E. H. Starling
(D) A. Weismann

b




